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Finding the volume of Composite Figures 

Many structures have been created by combining two or more basic shapes. We need to 
be able to separate them to calculate the total volume in each shape. This handout will 
explore a few of those.  

Example 1: 

 

Top: 𝑉 =  
1

2
𝑏ℎ𝑙  =   1

2
(6 𝑐𝑚)(ℎ)(20𝑐𝑚) ; we will need to calculate the height to complete 

the formula.  

 

 

 

To find the height, we need to use the formula: 𝒂𝟐 + 𝒃𝟐 = 𝒄𝟐 

(3)2 + 𝑏2 = (5)2 

9 + 𝑏2 = 25 

𝑏2 = 16 

𝑏 = 4 

Thus, the Volume of the top piece is: 1
2

(6 𝑐𝑚)(4 𝑐𝑚)(20𝑐𝑚) = 240 𝑐𝑚3 

Bottom:  𝑉 =  𝑙𝑤ℎ = (20𝑐𝑚)(6 𝑐𝑚)(10𝑐𝑚) = 1200𝑐𝑚3 

So total Volume = 240 𝑐𝑚3 + 1200𝑐𝑚3 = 1440 𝑐𝑚3.  

 

  

Top: 𝑽 =  
𝟏

𝟐
𝒃𝒉𝒍 

Bottom:  𝑽 =  𝒍𝒘𝒉 
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Example 2: One of our favorites: an ice cream cone that is full and has a nice amount on 
top. This is a great example of a composite figure. The radius is 4 cm and the height of the 
cone is 6 cm.  

 

 

 

 

Now that we can see the pieces, we can get the formulas for the volume for each piece.  

 

 

 

=  
𝟏

𝟑
𝝅𝒓𝟐𝒉                        +               

𝟏

𝟐
(
𝟒

𝟑
𝝅𝒓𝟑) 

=  
1

3
𝜋(4 𝑐𝑚)2(6 𝑐𝑚) + 

1

2
(
4

3
𝜋(4 𝑐𝑚)3) 

= 32𝜋 + 
128

3
𝜋 

=
224

3
𝜋  (exact answer in terms of pi) 

Total Volume = 234.45 cm3 

You Try: Find the volume of the figure shown to the right.  

Total Volume = top + bottom    

= 𝟏
𝟑

𝝅𝒓𝟐𝒉𝟏 + 𝝅𝒓𝟐𝒉𝟐 

=  
𝟏

𝟑
𝝅(𝟏𝟎𝒎)𝟐(𝟕. 𝟓) + 𝝅(𝟏𝟎𝒎)𝟐(𝟐. 𝟓𝒎) 

= 𝟐𝟓𝟎𝝅 + 𝟐𝟓𝟎𝝅 

= 𝟓𝟎𝟎𝝅 𝒐𝒓 𝟏𝟓𝟕𝟎 𝒎𝟑         

 

: but, only one-half of the sphere = + 
= + 


